





QCHOBA

YITA3 A
CTAH 1
3ATBOPEHE MOBPLUMHE
w MESENIE e e i
= E 550 1| OHeBHun bopaeak ca Tpn.| 20.84 19.88 |lMapker
26 2| ¥YnasHu xon 8.94 13.96 |[Mapker
2|2 2| HER S| =16 =1k 3| Kyxuma 5.81 10.12 |Kepamuka
- o — e — — — 4 | Kynatuno 4.02 8.32 |Kepamuka
i i | o i B i— — — 1 5 | CnaBaha coba 10.52 13.01 |Mapker
=100 Q:ZO =100 28 =100 n=100 =100 6 | Cnasaha coBa 8.04 11.60 |MNapker
300 12 230 N 360 12 420 YKYTMHO (100%): 58.17 m*
-3%: 1.75 m?
M=135 YKYTMHO (97%); 56.42 M2
(MepeHo R Xo76 NaAa ModecTa) OTBOPEHE NOBPLUMHE
l N 2 @ 7| Tepaca 6.16 | [Kepamuka
3 2 | | YKYTNHA HETO NMOBPLUVHA CTAHA 1 6258 M2
9 IEI IEI < 2 CTAH 2
E| 3ATBOPEHE MNOBPLWWHE
@ 5P| HAMEHA NPOCTOPWUJE [OBPUMHAI - OBVIM hen
(3‘7 m@ 1| OAHeBHu GopaBak ca Tpn.,  16.45 16.40 |Mapker
= 2| YnasHu xon 4.53 9.69 |Napker
3 | Kynatuno 3.98 8.05 [Kepamuka
4 | Kyxuna 6.23 10.52 |Kepamuka
] 5 | Cnaeaha coba 10.10 12.81 |Mapker
b YKYMHO (100%): 41.29 w?
E -3%: 1.24 W2
YKYTTHO (97%): 40.05 m?
_ o OTBOPEHE NOBPLWWHE
i 7 | BankoH 362 | [Kepamuka
 Fao)) | =l| 245 YKYMHA HETO NOBPLIWMHA CTAHA 2 43 67 W2
L[] = CTAH 3
[eF 3ATBOPEHE MOBPLUMHE
= D 1 o QJ 5P| HAMEHA NPOCTOPUJE [OBPUMHAI - OBVIM e
= I3 . 1 | AHeBHM Gopasak ca Tpn.| 16.51 16.45 |Mapket
S T 9 C 2 | YnasHu xon 5.60 10.55 [Mapker
i @ = @ % 80 IEl 3 | Kynatuno 4.04 8.05 |[Kepamuka
A 140 4 | Kyxuma 4.86 9.00 |Kepamuka
e ] 327 1 5 | Cnaeaha coba 8.54 12.02 |Napker
- E YKYIMHO (100%): 39.48 m?
= 3 3%: 1.18 W
CTa.H 'ﬂ - 80 ¥ YKYHO (97%): 38.30 M2
= 220 OTBOPEHE MNOBPLUNHE
= - BankoH 4.83 Kepamuka
|ﬁ| 8 [L\ﬂg ¢ ’ = sll'ynHA HETO NOBPLUWHA CTAHA 3 I l 42.13 M
o E 3AJEOHWYKE NMPOCTOPUJE
g EI & 3ATBOPEHE MOBPLWHE
IEI Q = / BP, HAMEHA NPOCTOPWJE HOBZLEMHA OE,:' b Onsgﬁﬂp‘
i | 1| BetpobpaH 5.20 9.14 |Kepamuka
542 2 | YnasHu xon 12.73 20.52 |Kepamuka
YKYIMHO (100%): 17.73 m?
M=100 N=100 280 12 422 -3%: 0.54 m*
Iy I _ I d YKYMHO (97%): 17.19 »?
’ gle : ! SE : 1 MN=10 M=100 MN=10 OTBOPEHE MOBPLUMHE
=] o | — : q . 3| Mpeaynas [ 400 ] |
A —=Te —Ta =1 = HETO MOBPLUMHA 3AJE[IH. MPOCTOPWUJA 21.19 m?
= =4 | 21 HETO NMOBPLUMHA NMPU3EMIBA (YNA3 A) 170.57 M?




3ATBOPEHE NMOBPWWHE
NOBPLUMHA| OBWM |OBPADA
BP| HAMEHA MPOCTOPWJE M2 " nonA
' 1 | AHeBHM BopaBak ca Tpn.| 17.30 16.81 |Mapket
2| YnasHu xon 4.54 9.70 |Mapker
3 | Kynatuno 4.01 8.05 |Kepamuka
= ﬁ 4 | Kyxunsa 6.23 10.52 |Kepamuka
g = 5 | Cnagaha coba 10.10 12.81 |Mapket
— 8 s i YKYMHO (100%): 4214 w2
Ri=t0a 2/ @ 2|2 8 g2 = 2 -3%: 1.26 m?
® | ®|F o I . , . YKYTHO (97%): 40.88 m?
| TP 0 | OTBOPEHE NOBPLUMHE
MN=20 M=100 e 6 | bankoH 3.75 Kepamuka
N | 0
N
g 210 12 320 i R
M=135 3ATBOPEHE NOBPWWHE
(Mepero o K )
EI | MEPEHO 0f KOTE N0AA NOAECTA EP. HAMEHA MPOCTOPVE I'IOBI:.;.IMHA OSMVlM OnEgﬁﬂA
90 1| OHeBHun Bopasak ca Tpn.| 16.51 16.45 |Mapket
205 2| ¥YnasHu xon 5.60 10.55 |Napker
o 3 | Kynatuno 4.04 8.06 |Kepamuka
| 4 | Kyxursa 4.86 9.00 |Kepamuka
Olo \ 5| Cnaeaha coba 9.09 12.41  |Napker
o0 \ g YKYHO (100%): 40.10 w2
3 ? | -3%: 1.20 M2
YKYTTHO (97%): 38.90 M?
o T’] =] @@g Qﬂg a 3 OTBOPEHE MOBPILUVHE
— ~ ~ 6 | BankoH | 488 | | Kepamuka
oo — = | % X - YKYMHA HETO MOBPLUMHA CTAHA 5 43.78 m?
A UimNED 2 HH— = )
\_205 | | CTaH 4 EI 3ATBOPEHE MOBPLUMHE
3 , A 8 L MOBPMHA| OBM
= 3 100 A% m A EP, HAMEHA MPOCTOPMJE | 0r v | ok
—\ ] 205 4.‘5 0 4 1| AHeBHu Bopasak ca Tpn.| 17.36 17.94 |Napker
]{@ 12 217 / O Ll L L 2 | Npeacobrbe 5.84 9.89 |Mapker
| e 3| Kynatuno 4.07 8.25 |Kepamuka
318 | ik == 4 | Kyxurba 5.40 9.60 |Kepamuka
. | 2 J 15 180l /il | ‘U’ /i mg 270 l\l ’ 153 5 | Cnasaha coba 9.09 12.42 |Mapket
I T T = YKYMHO (100%): 41.76 W2
3| |2 ZNL =l gl ol &Il &0 3%: 1.25 »?
3o g - S * 1B El YKYMHO (97%): 40.51 m?
205 RN ' Q | }|140 OTBOPEHE NOBPLUVHE
(COy== g 7 CONL - o
lzl 6 | BankoH 4.90 Kepamuka
280 . = s=g o
# oli | 8o = CTAH 7
= N 550 3ATBOPEHE MOBPLUMHE
i =
AKES] 2 5Pl HAMEHA MPOCTOPUJE | 00r /A OF/V|CBPARA
S a bopaBak ca Tpn.| 12.34 14.15 I'Iaplfle"\r
1| AHeBHK i . :
= é}@g M@ 2 | ¥nasHu xon 5.00 9.14 |Mapker
3 | Kynatuno 4.46 8.67 |Kepamuka
EI 2 80 |, 4| Kyxura 3.67 8.71 |Kepamuka
- & Il 5| Cnagaha coba 620 | 10.19 |Maper
il YKYMHO (100%): 31.76 m*
8 -3%: 0.95 m?
280 12 422 YKYIHO (97%): 30.81 M2
OTBOPEHE NOBPWWHE
o 6 | Tepaca 1 297 ] [Kepamuka
M1=100 =100 YKYMHA HETO MOBPLIVHA CTAHA 7 33.78 M
n=20Q i o I il SAJEOHUNYKE MNMPOCTOPWUJE
—— [ gie g/e 3ATBOPEHE MOBPLUMHE
=i i " - 5P| HAMEHA MPoCTOPUsE |TOPFMHA| OBV [OBPATA
1 | XogHwuk 5.76 11.54 |Kepamuka
2 | Ctenenuwre 8.01 16.67 |Kepamuka
YKYTMHO (100%): 13.77 »?
-3%: 0.41 m?
YKYMHO (97%): 13.36 m*
HETO NOBPLWWHA 3AJEOQH. NPOCTOPUJA 13.36 m?
HETO NOBPLUMHA NMPBOI CMPATA (YNIA3 A): 180.96 M?
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NOBPWWHA| OBMM |OBPAOA
BP. HAMEHA NMPOCTOPWJE M2 M ﬂOﬂﬂ
1| AHeBHun Bopasak ca Tpn.| 17.30 16.81 |Mapker
2| YnasHu xon 4.54 9.70  |Mapket
3 | Kynatuno 4.01 8.05 |Kepamuka
4 | Kyxunsa 6.23 10.52 |Kepamuka
5 | Cnasaha coba 10.10 12.81 |MNapker
YKYMHO (100%): 42.14 m*
-3%: 1.26 m*
YKYMHO (97%): 40.88 m*
OTBOPEHE MNOBPLUVHE
6 | BankoH | 375 | | Kepamuka
YKYTMHA HETO NMOBPLUMHA CTAHA 8 44 63 m?
CTAH 9
3ATBOPEHE NOBPLWWHE
MOBPLWWHA| OBUM |OBPAOA
BPL HAMEHA NPOCTOPWJE M2 M ﬂOﬂﬂ
1 | AHeBHM BopaBak ca Tpn.| 16.51 16.45 |[MapkeT
2 | YnasHu xon 5.60 10.55 |Mapker
3 | Kynatuno 4.04 8.06 |Kepamuka
4 | Kyxura 4.86 9.00 |Kepamuka
5| Cnaeaha coba 9.09 12.41  |Napker
YKYTMHO (100%): 40.10 »?
-3%: 1.20 m*
YKYTMHO (97%): 38.90 m?
OTBOPEHE MNMOBPLUWHE
6 | BankoH 488 | | Kepamuka
YKYMHA HETO MOBPLUMHA CTAHA 9 4378 m?
CTAH 10
3ATBOPEHE NOBPLUWHE
NOBPWWHA| OBUM |OBPALOA
BPL. HAMEHA NMPOCTOPWJE M2 M ﬂOﬂLﬂ
1| AHeBHun Bopasak caTpn.| 17.36 17.94 |Mapket
2 | MNpepacobrbe 5.84 9.89  |Mapker
3 | Kynatuno 4.07 8.25 |Kepamuka
4 | Kyxurba 5.40 9.60 |Kepamuka
5| Cnaeaha coba 9.09 12.42 |Mapket
YKYMHO (100%): 41.76 M2
-3%: 1.25 m?
YKYMHO (97%): 40.51 »?
OTBOPEHE MNMOBPLWWHE
6 | BankoH | 490 | | Kepamuka
YKYTMNHA HETO MNMOBPLUMHA CTAHA 10 45 41 m?
CTAH 11
3ATBOPEHE NOBPLUMHE
NOBPWWHA| OBUM |OBPAOA
6Pl HAMEHA MPOCTOPWJE 2 " nonﬂ
1| AHeBHM BopaBak ca Tpn.| 12.34 14.15 [MapkeT
2 | YnasHu xon 5.00 9.14 |[Napker
3 | Kynatuno 4.46 8.67 |Kepamuka
4 | Kyxura 3.67 8.71 |Kepamuka
5 | Cnasaha coba 6.29 10.19 [Mapker
YKYTHO (100%): 31.76 m?
-3%: 0.95 m?
YKYTTHO (97%): 30.81 m?
OTBOPEHE NOBPWWHE
6| Tepaca 2.97 | [Kepamuka
YKYMNHA HETO NOBPLUMHA CTAHA 11 33.78 m?
3AJEOHUYKE NMPOCTOPWUJE
3ATBOPEHE NOBPLWHE
MOBPWWHA| OBWMM |OBPAOA
BPL. HAMEHA NPOCTOPWJE M2 M I'IO.Elﬂ
1| XogHuk 5.76 11.54 |Kepamuka
2 | Ctenenuwre 8.01 16.67 |Kepamuka
YKYMHO (100%): 13.77 M?
-3%: 0.41 m?
YKYTHO (97%): 13.36 M2
HETO NOBPLWWHA 3AJEQH. MPOCTOPUJA 13.36 m?
HETO NOBPLWWHA OPYIOr CIrPATA (YJ1A3 A): 180.96 m?




O©CLEOBA TTS

3ATBOPEHE NOBPLUMHE

MOBPWKMHA| OBMM |OBPAOA
D BP, HAMEHA MPOCTOPWUJE M2 6 NOOA
1 | AHeBHM BopaBak ca Tpn.| 17.30 16.81 |[Mapker
2| YnasHu xon 4.54 9.70 |Napket
3 | Kynatuno 4.01 8.05 |[Kepamuka
3|2 4| Kyxuma 6.23 10.52 |Kepamuka
E : ] L 5| Cnaeaha coba 10.10 12.81 |MapkeT
pa— olo ol|o YKYMNHO (100%): v 5
“hoo - S|e 8|8 8|2 o e
o == | b i q YKYMHO (97%): 40.88 v
- 1 OTBOPEHE MOBPLUMHE
n= M=100 21 6 | BankoH | 375 ] | Kepamuka
210 12 320 ™ YKYIMNMHA HETO MNMOBPLUMHA CTAHA 12 44 .63 m?
§ o0 = f CTAH 13
E @ " (MepeHo oﬂc;la.nosna nopecra) E SATBOPE';E:PCIJJJBMPHU:MHCE)EHM
b — - OBPALA
% E 2 BP, HAMEHA MPOCTOPWJE 2 i nogA
205 e 1 | HeBHM BopaBak ca Tpn.| 16.51 16.45 |Mapket
o =il — 2| YnasHu xon 5.60 10.55 |Napker
= 3 | Kynatuno 4.04 8.06 |[Kepamuka
OO0 ‘9’: 4 | Kyxurea 4.86 9.00 |Kepamuka
o0 2‘_; 5| Cnaeaha coba 9.09 12.41  |Napker
; o o = YKYMNHO (100%): 40.10 m?
& -3%: 1.20 m?
T’I o = YKYTHO (97%): 38.90 m?
< OTBOPEHE NOBPLUNHE
ol v 6 | BankoH [ 488 ] [Kepamuka
U — = SO @]e) = ¥ YKYMHA HETO MOBPLUVHA CTAHA 13 43.78 M?
- | A BRIE @) 4 S CTAH 14
i Crah 12 n L 3ATBOPEHE MOBPLUMHE
@
@ L = BP. HAMEHA MPOCTOPWJE HOB':‘%MHA OE,:' M Oﬁgﬁﬂp‘
gﬁ 12 CraH 13 240 1 [ — 245 L 1| OHeBHM BopaBak ca Tpn.| 17.36 17.94 |MNapkeT
s OIS LIS |
e _— "V b = 2 | MNpepacobree 5.84 9.89 |Mapker
, _ _ | [} - - | - — 3| Kynatuno 4.07 8.25 |Kepamuka
S EW e U 8|8 g‘g 'I ‘| QM = mg N AT 540 | 9.60 |Kepamvka
s0|=| || 12 2 2 12 22 20 180 12 2. L =70 5| Cnasaha coba 9.09 12.42 |Mapker
1 I N P [T T YKYIHO (100%) 41.76 w2
8 EI = @ o N 2 n < 3%: 1.25 2
00 S o & & o S | o0 = YKYTHO (97%): 40.51 m?
2z o0 @ S o SO - 00 = OTBOPEHE MOBPLUVHE
g I @ : ! 6 | BankoH [ 490 | [ Kepamuka
) 280 N YKYIMNMHA HETO MNMOBPLUMHA CTAHA 14 45.41 m?
% ‘90 3 CTAH 15
Crar 14 2 o i | \_ 205 C i 3ATBOPEHE MOBPLUVHE
TR {I@ MOBPLUMHA| OBMM |OBPAJA
o,g =] o8 BP. HAMEHA NPOCTOPWUJE M2 M NogA
Iﬁl 8 4!@94{' |M| S| N 22N |ﬁ| = 4}@ [M'g 1| AHeBHM BopaBak ca Tpn.| 12.34 14.15 |MNapket
= 9 2 | YnasHu xon 5.00 9.14 [Napker
3 L—1 . 3| Kynaturno 4.46 8.67 |Kepamuka
m EI £ 4 | Kyxurea 3.67 8.71 [Kepamuka
@ 8 2 @ 5| Cnaeaha coba 6.29 10.19 [Mapker
§ B ) Q YKYTHO (100%): 31.76 »?
8 £ ® -3%: 0.95 2
493 12 280 20 280 12 422 YKYTMHO (97%): 3081 M2
n=20\ n=100 OTBOPEHE NOBPIMHE
it il I l 6| Tepaca [ 297 ] [Kepamuka
fi=20 o : =100 — =109 T YKYMHA HETO MOBPLUMHA CTAHA 15 33.78 m*
f B It : S — 3AJEOQHWYKE NMPOCTOPUJE
T = T o= o 3ATBOPEHE NOBPLWWHE
“"8'%}—J Lﬁ— 6Pl HAMEHA mPOCTOPUJE | TOBPLVIHA QBMM. | QEPAIA
m? M noga
1 | XogHwuk 5.76 11.54 |Kepamuka
2 | CteneHuwTe 8.01 16.67 | Kepamuka
YKYMHO (100%): 13.77 m?
3%: 0.41 m?
YKYMHO (97%): 13.36 m?
HETO NOBPLUMHA 3AJEOH. MPOCTOPUJA 13.36 m?

HETO MOBPLUMHA TPEREI CINPATA (YIIA3 A): 180.96 M?




QCHOEA
NOTKPOE=A

I YIA3 A
8 CTAH 16
3ATBOPEHE MOBPLUWMHE
5P| HAMEHA NPOCTOPWJE | OBPUMHA - OBVIM ik
2 1 | OHeBHU Bopaeak ca Tpn.|  14.58 19.53 |Mapkert
2 | YnasHu xon 2.48 6.29 |Mapket
3 | Kynatuno 4.08 8.47 |Kepamuka
=, 0
& Tkl 4 Kyxura 587 | 10.31 |Kepawwka
[ _* 3 g YKYIHO : 27.01 w2
. Iﬁl = ﬂé}‘w [Ml Fe=tty OTBOPEHE NOBPLINHE
— S S F O I S 5 [ BankoH 2.13 [Kepamuka
o h= 150 um ' | | : YKYMHA HETO MOBPLIWHA CTAHA 16 20.14 m?
g g i o i CTAH 17
3 EI A R P 3ATBOPEHE NOBPLUVMHE
“ 792 3 i 5P| HAMEHA MPOCTOPMUE | OBFAMHA) - OBIM Onsgﬁﬁp‘
o 1| OHeBHW BopaBak 9.23 13.00 |Mapket
eloe)j| 2 | Tpnesapuja 5.73 10.02 |Mapket
' = 3 | Kyxunsa 5.42 9.90 [Kepamuka
9 = e e ade 4 | Kynatuno 3.32 7.43  |Kepamuka
o 5 | Mpeacobrbe 6.55 11.72 |Mapket
3 1 @ N R El 6 | Cnaeaha coba 753 10.98 |Mapker
80\ @all= o0 YKYMHO : 37.78 M2
205 ) = D 0o OTBOPEHE MOBPLUVHE
| [ooa | = ] 7 | BankoH 263 | |Kepamuka
YKYTHA HETO MNMOBPLUMHA CTAHA 17 40.41 m?
Q — slelel| -2, i 0Od[ [ — Q
< gm =Rk 0 3 = gm IR s ] ] CTAH 18
50 = A IE 205 = 3ATBOPEHE MOBPLUMHE
0 (=)
o8 E - B : E zamm| @ g = 5P| HAMEHA MPOCTOPME | OBPUMHAI - OBVIM Oﬁgﬁﬂp‘
o
300 180 20 436 20 @ 17|00 395 1| AHeBHM DopaBak ca Tpn.,  19.44 20.23 |MNapker
il il i ‘ e]@®) 2| Ynasuu xon 5.66 11.09 | Napker
: ol o8 S 3 | Kynatuno 3.57 8.66 |Kepamuka
] i & & C ‘7 4 | Kyxurba 5.39 9.60 |Kepamuka
@ E Ta H @ § 5 | Cnaeaha coba 5.57 9.46 |Mapker
= 6 | Cnaeaha coba 5.95 9.80 |MNapker
T B B ué}‘ﬂ Vi AL 35.58 u°
480 20 Lo | N8 20 J R 714 OTBOPEHE MOBPWWHE
; ! ! : : iE ] h= 150 um 7 | BankoH 3.75 | [Kepamuka
- : | 1‘ : ! ! = ——= —T1 T | YKYTIHA HETO MNMOBPLUMHA CTAHA 18 49.33 m?
& S 4 E g E 1l . 3AJEOHWYKE MPOCTOPWUJE
o
Sl h=tsoum L[] h=150um | | | = e
Ir s s BP| HAMEHA MPOCTOPUJE nOB';,liMHA i OntAuﬂA
I o ] o 1| XogHuk 5.76 11.54 |Kepamuka
. . : 2 | CteneHuwiTe 8.01 16.67 |Kepamuka
P=20 P=100 ‘ YKYMHA HETO NOBPIIVHA 3AJEQH. MPOCTOPWJA  13.77 M2
i = ' YKYMHA HETO MOBPLUMHA YNTA3A A 132.65 m?
ol old I
N Q| ~— |
| §|
7:::?_—?__77_—:?;4;57{”
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YIA3 B
CTAH 1
3ATBOPEHE NOBPLUWHE
BP. HAMEHA NMPOCTOPWJE HOBZLZUMHA OB:IM OHBSE'R'A
1| AHeBHWn Gopaeak ca Tpn.| 20.84 19.88 |lMapket
2| ¥YnasHu xon 8.94 13.96 |Mapket
3 | Kyxursa 5.81 10.12 [Kepamuka
4 | Kynatuno 4.02 8.32 |Kepamuka
5| Cnaeaha coba 10.52 13.01  |Mapket
6 | CnaBaha coba 8.04 11.60 |Mapket
YKYTMHO (100%): 58.17 m?
-3%: 1.75 m?
YKYMNHO (97%): 56.42 m*
OTBOPEHE NOBPLWHE
7 | Tepaca 6.16 | [Kepamuka
YKYMHA HETO MOBPLUMHA CTAHA 1 62.58 m?
CTAH 2
3ATBOPEHE MNMOBPLWWHE
5P| HAMEHA NPOCTOPMJE [OBPUIMHAI - OBVIM e
1| AHeBHW BopaBak ca Tpn.| 16.27 16.40 |Mapket
2| YnasHu xon 4.53 9.69 |Mapker
3| Kynatuno 3.98 8.05 |Kepamuka
4 | Kyxumna 4.40 8.49 |Kepamuka
5 | Cnaeaha coba 10.10 12.81 |Mapker
YKYMHO (100%): 39.28 m?
-3%: 1.18 m?
YKYMNHO (97%): 38.10 m?
OTBOPEHE NOBPLUMHE
7 | BankoH 554 | | Kepamuka
YKYTMHA HETO NMOBPLUMHA CTAHA 2 43.64 »?
CTAH 3
3ATBOPEHE NOBPLUWHE
BPl. HAMEHA MNMPOCTOPWJE HOBZLEMHA OE:IM OntﬁﬂA
1| AHeBHW Bopaeak ca Tpn.|  16.51 16.45 |Mapket
2 | ¥YnasHu xon 5.60 10.55 |[Mapket
3 | Kynatuno 4.04 8.05 |Kepamuka
4 | Kyxuna 4.86 9.00 |Kepamuka
5 | Cnaeaha coba 8.54 12.02 |Napxer
YKYTMHO (100%): 39.48 m?
-3%: 1.18 m?
YKYMHO (97%): 38.30 m?
OTBOPEHE NOBPWWHE
6 | BankoH 4.83 | [Kepamuka
YKYMNHA HETO NMOBPLUWHA CTAHA 3 43.13 »?
SAJEOHNYKE NMPOCTOPWJE
3ATBOPEHE NMOBPLUWHE
MOBPWWHA| OBUM  |OBPA
BP, HAMEHA MPOCTOPWUJE M2 M I'IO,D,ﬂA
1| BeTpobpaH 5.20 9.14 |Kepamuka
2 | YnasHu xon 12.73 20.52 |Kepamuka
YKYMHO (100%): 17.73 m?
-3%: 0.54 m?
YKYMHO (97%): 17.19 m?
OTBOPEHE MNOBPLUMHE
3| MNpegynas [ 400 | |
HETO NMOBPLUNHA 3AJEOH. MPOCTOPUJA 21.19 m?
HETO MOBPLUMHA NMPU3EMJBA (YNA3 B) 170.54 m?
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3ATBOPEHE NOBPWWHE
MOBPLMHA| OBWUM
BPl HAMEHA MPOCTOPWJE |02 W | e
1 | AHeBHM GopaBak ca Tpn.| 17.30 16.81 [Mapket
2| ¥YnasHu xon 4.54 9.70 [NapkeTt
3 | Kynatuno 4.01 8.05 |Kepamuka
4 | Kyxumsa 6.23 10.52 |Kepamuka
5| Cnasaha coba 10.10 12.81 |Mapket
YKYIMNHO (100%): 42.14 m?
-3%: 1.26 m?
YKYMNHO (97%): 40.88 m?
OTBOPEHE NOBPLWWHE
6 | BankoH 3.75 Kepamuka
3ATBOPEHE MNOBPLUHNHE
MOBPLWWHA| OBWUM |OBPAOA
BPL. HAMEHA NPOCTOPWUJE M2 M nonﬂ
1 | AHeBHM BopaBak ca Tpn.| 16.51 16.45 |Mapket
2| YnasHu xon 5.60 10.55 |Mapket
3| Kynatuno 4.04 8.06 |Kepamuka
4 | Kyxurba 4.86 9.00 |[Kepamuka
5 | Cnaeaha coba 9.09 12.41  |Napker
YKYMHO (100%): 40.10 m?
-3%: 1.20 m?
YKYMHO (97%): 38.90 »?
OTBOPEHE NMOBPLWWHE
6 | bankoH 4.88 Kepamuka
3ATBOPEHE NOBPLUMHE
NOBPWWHA| OBUM |OBPAOA
BP. HAMEHA MPOCTOPWJE W e nouﬂ
1| [HeBHW BopaBak ca Tpn.| 17.36 17.94 |Mapket
2 | MNpepcobrbe 5.84 9.89 |NMapket
3 | Kynatuno 4.07 8.25 |Kepamuka
4| Kyxursa 5.40 9.60 |Kepamuka
5 | Cnaeaha coba 9.09 12.42 |Mapket
YKYTMHO (100%): 41.76 »?
-3%: 1.25 m?
YKYMNHO (97%): 40.51 m?
OTBOPEHE MNOBPLWHE
6 | BankoH 4,90 Kepamuka
3ATBOPEHE NOBPLWWHE
MOBPLWWHA| OBWUM
5P HAMEHA MPOCTOPWJE | o\ s ¥ | neos
1| OHeBHn BopaBakca Tpn.| 12.34 14.15 |MapkeT
2 | Yna3sHu xon 5.00 9.14 |Napket
3 | Kynatuno 4.46 8.67 |Kepamuka
4 | Kyxumsa 3.67 8.71 |Kepamuka
5| CnaBaha coba 6.29 10.19 |Mapket
YKYMNHO (100%): 31.76 m?
-3%: 0.95 m?
YKYMHO (97%): 30.81 m?
OTBOPEHE MNOBPWWHE
297 | [Kepamuka
3AJEOHNYKE NMPOCTOPUJE
3ATBOPEHE MNMOBPLUWHE
NOBPLUMHA| OBWM
BP. HAMEHA MPOCTOPWJE | Oor i St
1 | XogHuK 5.76 11.564 |Kepamuka
2 | CteneHuwTe 8.01 16.67 |Kepamuka
YKYMHO (100%): 13.77 M?
-3%: 0.41 m?
YKYMHO (97%): 13.36 m?
HETO NOBPWWHA 3AJEOH. MPOCTOPWUJA 13.36 m*
HETO MNOBPLUWHA NMPBOI CMNPATA (YNA3 B): 180.96 m*
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YNA3 b
CTAH 8
3ATBOPEHE NOBPLUVMHE
NOBPWWHA| OBKMM |OBPAOA
BP. HAMEHA NPOCTOPWJE M2 M I'IOLIﬂ
1 | AHeBHM BopaBak ca Tpn.| 17.30 16.81 |Mapket
2| YnasHu xon 4.54 9.70 |Napket
3 | Kynatuno 4.01 8.05 |[Kepamuka
4 | Kyxura 6.23 10.52 |Kepamuka
5| Cnaeaha coba 10.10 12.81 |MNapket
YKYTHO (100%): 42 14 m?
-3%: 1.26 m?
YKYTHO (97%): 40.88 m?
OTBOPEHE MNMOBPLWWHE
6 | BankoH 375 | [Kepamuka
YKYNHA HETO NOBPLUMHA CTAHA 8 44 63 m?
CTAH 9
3ATBOPEHE NOBPLWHE
NOBPWWHA| OBWMM |OBPAOA
EPl HAMEHA NPOCTOPWJE W N nonﬂ
1 | AHeBHM GopaBak ca Tpn.| 16.51 16.45 |MapkeT
2| YnasHu xon 5.60 10.55 |Napket
3 [ Kynatuno 4.04 8.06 |Kepamuka
4 | Kyxurea 4.86 9.00 |Kepamuka
5| Cnaeaha coba 9.09 12.41  |Napker
YKYTHO (100%): 40.10 m?
-3%: 1.20 m?
YKYTHO (97%): 38.90 m?
OTBOPEHE MOBPLWHE
6 | BankoH |  4.88 [Kepamuka
YKYMHA HETO MOBPLUMHA CTAHA 9 43.78 m?
CTAH 10
3ATBOPEHE NOBPLUMHE
NOBPWWHA, OBWMM |OBPAOA
6Pl HAMEHA NMPOCTOPWUJE iy M I'IO.EL.%
1| AHeBHun Bopasak ca Tpn.| 17.36 17.94 |MNapker
2 | MNpepcobrbe 5.84 9.89 |[MNapker
3 | Kynatuno 4.07 8.25 |Kepamuka
4 | Kyxuma 5.40 9.60 |Kepamuka
5 | Cnagaha coba 9.09 12.42 |Mapket
YKYTHO (100%): 41.76 m?
-3%: 1.25 m?
YKYTHO (97%): 40.51 m?
OTBOPEHE MNMOBPLWWHE
6 | BankoH 4.90 |Kepamuka
YKYMNHA HETO MOBPLUMHA CTAHA 10 45 41 m?
CTAH 11
3ATBOPEHE NOBPLUMHE
NOBPLWWHA| OBWM |[OBPANA
BP. HAMEHA NPOCTOPWJE iy M I'IO,EIﬂ
1| OHeBHn BopaBak ca Tpn.| 12.34 14.15 |MNapket
2| YnasHu xon 5.00 9.14 |MNapket
3 | Kynatuno 4.46 8.67 |Kepamuka
4 | Kyxura 3.67 8.71 |Kepamuka
5| Cnasaha coba 6.29 10.19 |NapkeT
YKYNHO (100%): 31.76 »?
-3%: 0.95 m?
YKYTHO (97%): 30.81 m2
OTBOPEHE NOBPLWHE
6| Tepaca 2.97 [Kepamuka
YKYIMNMHA HETO NMOBPLUMHA CTAHA 11 33.78 m?

3AJEAHWUYKE NMPOCTOPWUJE

3ATBOPEHE NOBPLUVMHE

MOBPWWHA| OBWM |OBPARA

BP. HAMEHA NPOCTOPWJE M2 M nonA
1| XoOHUK 5.76 11.54 [Kepamuka
2 | CteneHuwre 8.01 16.67 |Kepamuka

YKYMHO (100%): 13.77 m?

-3%: 0.41 m?

YKYTHO (97%): 13.36 m?
HETO NOBPLUMHA 3AJEQH. NMPOCTOPUJA 13.36 M2
HETO MOBPLUMHA PYIOr CMPATA (YNIA3 E): 180.96 m?




YIA3 b
CTAH 12
3ATBOPEHE NOBPLUMHE
o) EPl. HAMEHA MPOCTOPWJE nOBZLzLMHA OBMM M OnsgﬁﬂA
1 | lHeBHW Bopaeak ca Tpn.| 17.30 16.81 |[Mapket
2| ¥Ynasuum xon 454 9.70 |Napket
3 | Kynatuno 4.01 8.05 |Kepamuka
— 4 | Kyxursa 6.23 10.52 |Kepamuka
S| 5| Cnaeaha coba 10.10 12.81 |Mapket
IFD::‘:'J]I YKYTHO (100%): 42 14 »?
‘8_ ?_ § ‘S’_r B n=100 1 -3%: 1.26 m?
— . S| YKYMNHO (97%): 40.88 m*
| - I ‘ = i fi—— } OTBOPEHE MOBPLUMHE
M=100 n=100 =100 A=100 {n=20 6 | BankoH [ 375 ] [Kepamuka
Non - % § = 55 \ i YKYMHA HETO NOBPLUVWHA CTAHA 12 44.63 M2
CTAH 13
M=135 3ATBOPEHE MOBPLUWHE
I (epewo o nona nanecrs) |3 5P| HAMEHA NPOCTOPME [OBPUIMHAL OBIM gl
@
El o @ 1| AHesHun Gopasak ca Tpn.| 16.51 16.45 |Mapket
8 f— 2| YnasHu xon 5.60 10.55  |Mapker
m 3 | Kynatuno 4.04 8.06 |Kepamuka
= Q 4 | Kyxursa 4.86 9.00 |Kepamuka
33 g ‘: 5| Cnaeaha coba 9.09 1241 [Napker
CTaH (I] « = % YKYMHO (100%): 40.10 m?
= o0 ~ & I}I‘] El -3%: 1.20 m?
2 = % o m@ -— e YRYITHO (97%): 38.90 M
= 2 o @@ 7 8 = OTBOPEHE MOBPLUVHE
1 :| = 9 = 6 | BankoH 1 488 | [Kepamuka
_ 7 =] 00 =1 L [iezere YKYMHA HETO MOBPLUAHA CTAHA 13 43.78 M2
e 4105 »ERE = 2 _® A CTAH 14
E 2 s | | 205 3ATBOPEHE NOBPWWHE
! ‘ TaH — 2 - 2
C m@ @ - ;;0\ o @ e 5P| HAMEHA MIPOCTOPUJE | 1OCRaMHA  OBIM -t
1 M |=[ 1| 12 (740) Cran 13 CraH 14 SD 205 1| OnesHu Gopasak ca Tpn.| 17.36 | 17.94 |Mapket
i = RS <~ > 217 12 {(zse) 2 | Npencobroe 584 | 9.89 |Mapker
| i —r 3| Kynatuno 4.07 8.25 |Kepamuka
= m ] | w a8 S8 / — [ROT+ = Q 4 | Kyxursa 5.40 9.60 [Kepamuka
\\\ 153 b g = |l 12 " ligo 20 326" 12 (e =300 5| Cnasaha coba 9.09 | 1242 |MNapker
ki L —J/ =T YKYMNHO (100%): 41.76 »?
3 2 9 -3%: 1.25 w2
.8_ il E| e @ S S\ Q ﬁ 80 ® = YKYTTHO (97%): 40.51 »?
. O QS S o OTBOPEHE MOBPLUVHE
c 2 &
00 o @) i N 05 @ =P 6 | BankoH [ 490 | [Kepamuka
[ @ |z| T - YKYMHA HETO MNMOBPLUMHA CTAHA 14 45 41 m?
o
= = 90 20 = CTAH 15
i 205 / < g J 208 é_l,: SATBOF’EI;(E) ;P?uBm:u;MHgsmm .
= N C)
@-‘E@D{l ﬂ@ | 3 EPl HAMEHA MPOCTOPWJE W2 & nonA
212/~ == 1| OHesHu Bopasak ca Tpn.| 12.34 14.15 |Mapket
|ﬁ| = é}@ m@ e e = %Dé]’ﬂ M‘g 2 | YnasHu xon 5.00 9.14 |MNapkeT
7] o 3| Kynatuno 4,46 8.67 |Kepamuka
2 & 4 | Kyxura 3.67 8.71 |Kepamuka
= El - 5 5| Cnasaha coba 6.29 10.19 |Mapket
N 9 8 b YKYMHO (100%): 31.76 M2
8 = & = -3%: 0.95 m?
422 12 280 20 280 12 493 YKYNHO (97%): 30.81 m?
==y = OTBOPEHE NOBPLUMHE
T H=j00 1 H{“ =0 T - 6| Tepaca [ 297 ] [Kepamuka
=100 M=100 = e 1 = . - YKYMHA HETO NMOBPLUMHA CTAHA 15 33.78 m?
I 1T q {1 =20 n=20 @ 213 I8 EI 3AJEOHWNYKE NMPOCTOPUJE
S SE 1B | —— = - =[5 3ATBOPEHE NOBPLWHE
== - = — === - T
s SR [lEs= BP| HAMEHA MPOCTOPMJE | OBrGMHA| OBV b
I —— | 1| XoOHuWK 5.76 11.54 |Kepamuka
2 | CteneHuwrTe 8.01 16.67 |Kepamuka
YKYMNHO (100%): 13.77 w?
-3%: 0.41 m*
YKYTHO (97%): 13.36 m?
HETO MOBPLUMHA 3AJE[H. NIPOCTOPUJA 13.36 M2
HETO MOBPLUMHA TPETREI CMPATA (YNIA3 B): 180.96 M2




QCROEA
NOTKPOE=A

X
YINA3 B
@ 3 g;
IR i oy 2 3ATBOPEHE MOBPLUWMHE
[l Iﬂ EP| HAMEHA MPOCTOPME [ OBPUVHA - OBIM Oﬁgﬁﬂ‘“
= =) o IEI 1| OHeBHM GopaBak ca Tpn.| 19.65 | 18.98 |MapkeT
e 2 - ﬂ? 8 o 2| Ynasnm xon 5.71 10.77 _|MNapket
T = 23 12 315 g 3| Cnagaha coba 9.18 | 13.44 |Mapker
& @ EI &3 W 4 | Kynatuno 4.05 8.24 |Kepamuka
oX o 5 | Kyxutsa 6.36 10.10 |Kepamuka
ey 0 6 | OcTaBa 2.53 7.22 |Kepamuka
88|88 @ 7 | Cnasaha coba 497 8.92 |Mapker
A8 L g | === o YKYTHO 52.45 M2
& 80 OTBOPEHE NOBPLUWMHE
2 ° 8 | BankoH 217 Kepamuka
© ~ = g g 9 | BankoH 2.67 Kepamuka
T m z[) 100 = |
g BV 2 2] CTAH 17
o 0 \ 8° 3ATBOPEHE NOBPWWHE
_ . 5P, HAMEHA POCTOPUE |TOBFJMHA ORIV |OBRADA
Ij = N 1 | AHeBHM Gopaeak 21.90 20.24 |Mapxet
= 2| Ynasuu xon 5.44 10.48 |Mapket
4 - 3| Tpne3apuja 10.36 12.88 |MapkeTt
" = 4 | Kyxurba 5.34 9.54 |Kepamuka
18] [0 O 207 5| Kymatuno 4.26 9.16 |Kepamuka
0O i X 6 | Cnasaha coba 7.02 10.76 |Mapket
1 7 | Cnaeaha co6a 4.97 8.92 |Napker
o 3 ' I YKYTHO - 59.29 W2
39 5 = OTBOPEHE MOBPLUVHE
8 | BankoH | 375 ] |Kepamuka
Fm———— § |§| YKYMNHA HETO NOBPLUMHA CTAHA 17 63.04 m?
i E 703 3AJEOHWNYKE NPOCTOPWNJE
E i h= 150 um 3ATBOPEHE MOBPLUWMHE
: ! & BPL HAMEHA POCTOPWJE |/ OBrGMHA|  OBUM o
'_———————‘ 1| XogHuk 3.43 7.76 |Kepamuka
h=150 um _ |y 2| CrenenuwTe 8.01 16.67 |Kepamuka
- h= 1§§"‘"=r YKYMHA HETO MOBPLUVHA 3AJEQH. NPOCTOPWJA  11.44 M2
o YKYMNHA HETO NOBPLUMHA YNA3SA B 131.77 M2
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